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DZ2R. DZ2KRTseries
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IEC connector filter with fuse or switch.
R:for one or two fuses K:with switch.

O KRN
Space-saving

For mini-electronic equipments and electronic measuring instruments
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Test Voltage (1min)

S1%Z5] Climatic Category

250VAC
50/60Hz
1A-10A

1500VDC (line/line)
1500VAC (line/ground)
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Model Current Cap?:'i__t?nce Re(sl\i/?tg?ce Diagram fig. | Dimension fig.
DL-1DZ2R L2 =
DL-3DZ2R & L 3 22 0.5 1 1 1
DL-6DZ2R e L 6 2.2 0.5 1 1 1
DL-10DZ2R L) =L 10 2.2 0.5 1 1 1
DL-1DZ2KR CE 3 =L 1 2.2 0.5 1 2 2
DL-3DZ2KR S = 3 22 0.5 1 2 2
DL-6DZ2KR L2 =) 6 2.2 0.5 1 2 2
DL-10DZ2KR L = 10 2.2 0.5 1 2 2
DL-1DZ2KR2 L3 = 1 2.2 0.5 1 3 3
DL-3DZ2KR2 O =) 3 2.2 0.5 1 3 3
DL-6DZ2KR2 L L 6 2.2 0.5 1 3 3
DL-10DZ2KR2 € =1 10 3.3 0.5 1 3 3
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fig.1 fig.2  (for one fuses) fig.3 (for two fuses)




DZ2R. DZ2KR %3l DZ2R. DZ2KR Series
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Panel Cut Out
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Panel Cut Out
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(50 QMEFES, IEC/CISPR No.17 S 1 R¥) Measured in 50 Q system, as IEC/CISPR No. 17 )
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4% (Common Mode)
————— #1& (Differential Mode)




